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EGT-P-ECON

ECONOMICS (PAPER-I)

Time Allowed : Three Hours [Maximurn Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT gquestions divided in two Sections and printed both in HINDI and
in ENGLISH,

Candidate has to atternpt FIVE gquestions in all,

Question Nos. 1 and 5 are compulsery and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section,

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer [QCA) Booklet in the
space provided. No marks will be given [or answers written in a medium other than the
authorized one.

Word hmit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the guestion itself

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even il attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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Answer the [ollowing questions in about 150 words each ;

fa}

fb)

fel

()

fel

2. fa)

(&)

(e

# UG Woeiern Jen S R § eds s s b

Does a monopolistically competitive market lead to excess capacity under price
competition?
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Explain some of the measures for assessing the monopoly power of a firm.

Hge WHo-UFle UHe HIER &1 WaM w0 g T9igy 7 wenie swehis B v dges foia &
oof dem wR R W G SR e w R

Using the I3-LM model, show how expected deflation may cause equilibrium
output to remain at less than full-employment lewvel.
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Is stagilation a logical outcome of Keynesian orthodoxy? Give reasons for
FOUT answer,
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What is high-powered money? Explain how changes in short-term monetary
policy affect high-powered money and money multiplier.

v Fifer s iy (egmm) ¥ fi-siiren ofze & fm o wds w4 gEt w0
e #F 6 T v

Explain why in a duopoly model of collusion, each firm has an incentive to
cheat the other.
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Show how a dominant firm with a competitive [finge can act as a price leader in
an oligopoly market.
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Give an outline of Kaldor’s theory of distribution, Also explain the implications
of an increase in the wage level and a reduction in the saving rate on the
distribution of income.
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In the simple Keynesian model, if consumption and investment are both
functions of income, how would the multiplier be affected? L5
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What is hysteresis? Explain the impact of hysteresis in Gradualist Monetarist
and Eclectic Keynesian lrameworles, 15
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How will vou derive the real ageregate demand curve using the Mew Classical
Theory? 20
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What is interest rate targeting? Explain using the concept of Tayler rule. 15
(b F= dafl iferm arel gefl sd=gasn 3 difes Wan TEa-g9ie 1 0% 950 39 8 '
2 = iy

In an epen economy with high capital mobility, meonetary management can be
a successful too] to increase output. Explain. 15
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The burden of tax depends upon the elasticity of demand and supply of a
commodity or service. Explain with suitable examples. 20
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Answer the following guestions in about 150 words each - 10=5=50
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Under what conditions will devaluation create trade surplus and incresse
output in the simple Koynesian framework?

(b) wfvom e T wEh &7 ofesm qeaies § @ anm S wow gl 6 s 8
What aré shadew prices? Why are these preferred over market prices in
project evaluation?
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In Harrod’s model of growth, il the expected growth rate exceeds the warranted
growth rate, what will be the relation between the actual growth rate and the
expected growth rate?
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How do externalities lead to market failure? How can this situation bhe
remedied?
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Give an outline of a model of speculative attack under fixed exchange rate.
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Explain, with the help of diagram, how Haberler's theory of opportunity cost
is an improvement over the comparative cost theery of Ricardo.
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A guota on import and an equal-import tarifl are equivalent in a competitive
market but not under monopoly. Explain,
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What is Doha Development Agenda? Explain how it negotiated TRIPS and
TRIMS among nations.
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Development of human capital may lead to constant returns and propel an
economy to self-sustaining economic growth. Explain.
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Kuznets hypothesis predicts decline in income inequalities in the long run. In

recent decades do trends in income inequalities in developed and developing
economies support this hypothesis? Give reasons for your answer.
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Examine Arthur Lewis model of economic development with unlimited supplies
of labour. What is A. K. Sen's critique of that approach?
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Explain why the market and the State have complementary roles in economic
development, 15
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How does rural economic activity create environmental degradation in
developing economies? 15
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What policies would wyou suggest to combat negative environmental
externalities? 20
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